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Section — A

l. In the fnllnwmg real numbers, wluch ene

: ' - ‘. . 1 T
15 non-lcrnunaung repealilis

dccimal expansion

T TR SATCA A Fady (aefie £ AT

NCSe TR AT QT (SHD TS (AT 2T

(a) 3
(b) =
l
(c) =
13
(d) 7135
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2.  Find the corrcct answer -
\ﬁ 1S

(a) anintcger

(b) a rational numbcr

(¢) aprnme number

(d) an irrational number

am@mﬁﬁaﬁ@ﬁw:
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T BIGH @R N
A7 ol
{a) YO =1
(b) e S
(C) ﬁﬁﬂ? 2rell]
(d)] TrSETIY ST

Sumy of the zeros of the cubis palynomial
Py = 3x1 — 532 - Llx =13 15
Pix) = 3x2 — 542 - 11x — 3 Frutis oM Ctg T QO (T B
Pt o 1 P(3) =300 — 53 — 11x —3 43 FATOETE Qe 204
@
(by 11
¢) 3
] )
W 3
4. Under what condition, roots. of 'lhet]uzhdr_atir:-'Equﬁtionrx'l + v+ g = 0wl

be real and uncqual !

fr g 0TS SRR o2+ pe+ = 0 T 7 i ST TF AHE T2

F 508 e wleat 2 + perq= 0 &7 [ 9 I AT ASHH =T
(a) p*-4g=1=0
(b) p-4q<0
te) pt-d4q>0
) pf—dg 2l
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hen the arcis of the

S. If the sides of WO simiular tnangles are 1n the ratio 4 B

tnangles are in the ratio

5 2<
T 981 Wy Frgee Ts3 WS 4 - 9 cors frge e A FTE

(a) 2:3
(b) 4:9
(c) S81:16
(d) 16:8I1

6. Distance between the points (1, 0) and (1. 0) 18

(1, 0) J& (=1, 0) e {54 X164 543 T=F -

(1, 0) 2 (-1, 0) 7 €33 sv1es @y ™

{a) 0O
R
(c) |
(d) 2

7.  If the angle of elevation of the sun is 45°, then the ratio between the tower

and its shadow 1s

tfh s{Ua 833 @11 45°, oFH 451 §8 JATH AU &€ Tq"1S X'

U spde SafS @t 45° @ orngA 93% I A 9T v gaTe w1

(b) 1 :‘\ﬁ
(€) V2:1
(d) 1:
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8.  Areaof a sector of angle Plin degrees) ot a circle with radius R s

R T™ T3 251 334 P(6P0) @113 LB Juaerd of e ©F

R Imsd Yo 23% ooz P

II
(@) T80 ™ 2nR

p

Tho * °R°

(b)

P
(C) 360 © 2aR

I’ .
(_d‘ '!‘)U x ZﬂR'

L

Downloaded from JobAssam.in

9.  The wickets taken by a bowler in 10 Crnicket matches are as tollows |
2 6 4 5 0 3 ] 3 2 3
Mode of the data 1s

AT TR 10 4= fmrel crers wd o4 SIRGA 14T OFC A yasq ¢

2 6 4 5 0 3 | 3 2 3
oyifxffe T3 T2

10 % [R5 ety 2884 (@@ TYH FI SAAGT NYT 757

2 6 4 § 0 3 | 3 2 3
TR TS UL

(a) |

(b) 2
ey 3
(d) 3
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10. e : . _
A die is thrown once. the probability of getting a pnme number 15

9B AT aarq WY By TS ST (raTa SIS T

23} w1 szare wnye s AferE s «ranra sty faet A

|
(a) 6
b 2
(b) 6
|
{c) 3
|
(d) 3

| + tan’0

o, IS
l = cot-0

I11. The value of

| - tan’0

) +c0!:91 e e

| - tan'0
1 + cot’0

£3 T7H U<
(a) sec’®
(b) -1

(c) cot’6

(d) tane
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12. Three mesallic spheres of radii 6 cm. 8 cm and 10 cn respectively are

melted to farm a single solid sphere. The radius of the resulting sphere 1s 1

(27, § (el @ 10 (O, AT S g orEre e A3 mgd T
Rolg T E'E | AT L <SS 5

6 o7, & s a7 10 i e Roafl ang oeres e 033 S T
TS T EET | 0T el 5 s wm

(a) 12 e (CEFT) (esifiny
{b) 24 cm (CTE) (1P
(¢} 48 em {CEM.) (k)

() 480 em (=R ()

Section—B
13. Using Euclid’s division lemma. show that any positive odd integer is of the.
form 44 + | or 44 + 3 where  is some integer.

[

BE[red [Meren FIovie Rl o) oot A R COTd ST &y a
TATE g+ | T g+ 3 WIEF T g QIR 45 Ty SR |

2T fursi =foen a9 T @M 1, o7 @I M JrUe T dq + 1
3 4y + 3 Egied AT q AF0 YD AT

[4,  Which term of th¢ Arithmetic Progression : 2
K. O . [ {. JP—— 1578 Y

3,8, 13, 18, c0veerroen.. SR TSR RATET oW 78 7

3.8 13, TR s ssnsiaees wated HAfele cota ois 78 °
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19.

16.

7.

Find the coordinates of the point which divides the line segment joining the
points (-1, 7) and (4, =3) in the ratio 2 : 3

(-1.7) W& (4., -3) A9 WD @UOT 2 : 3 HNTS @19 241 KB4 AR
faefn =1

(=1, 7) A (4. -3) e o @t waf 2 : 3 AFAS fawes o fasibg
wanrs fady @

Evaluate :
W+ fAfn a9 :

517 A e

5 c0s260° = 4 sec230° — tan’45°
sin<30° + cos<30°

If A, B and C arc interior angles of a triangle ABC. then show that

; [B—C] A
sin [~ | =¢0s 3.

1fF A. B €& C @17 @%51 ABC faged T@:cel T, (S5 (yadl U -

o (B5S) A
sml\ 5| =cos 3.

ufi ABC foyten @E:1 o A, B a3 C 20 O (73 @,

; (B+C)_‘ A
sin 2 —CObz.
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18, A box comains 3 blue; 2 white and 4 red marbles. I a marble Is drawn at
random [rom the box, what is the probability that it will be white Ks

B T 351 A, 261 <A it 4 981 N WG | W7 9B Fef TR
Tl TN, (O CRALST 3 e st 2

ol 2 3 A=, 2 ST a4 G e wde ence | 1 ke ord a0

|9, Prove that ;
) G T PRt
ﬁﬂ‘l“l QO Qe

(sinA + cosec AR | {cos A+ see AP = 7 + tan?A + cot’A

Section—C

2(). Divide 3ty +S5byx—1—x and verify the division algorithm.

r— | —x2 @ 32— x) - 3y = 5§ % W T e [T AR Ao T |

30 - P+ SE@ x— | —x7 TR AT RFete ARon So9d FE |

21. For which values of p does the pair of equations gi_'-.r::n below has unique

solution 7

o s S I e TRTaTaET 951 WEST S W v

dv + py+ B=0
v+ 2y +2=0
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24.

Find the roots of the following equation :
W=Tq HifeRets 5 AT T

Tieea Ahozrfea @ ey =

Inl-5x+2=0

If the following quadratic equation has two equal roots, then find the value

of k.
i e TS SRR N 5O SN I, (O k3 NI AT o

Feea Rers Seanfe Y& 70 w9 et ka =W ey g

2t e kxy+3=0
Or/aTRarsraat

Find twa consccutive positive integers, sum of whose squares is 365,
531 23S CuITrS arya Wl SFTodT U a5 UisEe 365

5% i cuteiere Spya Suam el I UioeE ava sefe 365

The first term-of an AP is 5 and last term is 45 and the sum is 400, Find (he
number of terms and the common difference.

B! SRS AfET S9N o5 5, W o 45 W I 400; 2 5 AT W
AR & R aar |

b STAIYR 24w AwT o 5, WiET o 45 aq SR 400 | (V% AR SRy o

B15-GM (EN/AS/BN) {(New) 10,



25 1Fa Yine intersects sides AR and AC of a AABC m D and E respectively and

AD Ak 4

is parallel 1o BC, Prove 1l — ——
[ ] rove 1]1u[ AR -‘ﬁlc-

UH O9E R AABC 7 AB WF AC 757 & D &% [ e (ov 3@ ETF

(iwE BC ¥ HHFA1T, O W ] i‘@" = _-’}_5
' '- | ."'LB Al

ABC Togcsr BC aag S9@as-aaf (a1 T AB gy AC 3120 &0 D 4

AD _AE

E I (2 0 O SN 1=
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26.  Find the area of the wiangle formexl by the pomts A(S, 2).B(4,7) and C(7, -4). 3
A(S. ), Bi4, T) i C(7, ) & @t e Fagere 6= [T 4 |

A5, 2), Bl4, 7) ad2 C17. -4) e ool o ¥ Frgafe =i Fefu 3

27. A chord ol a circle of radius 1) cm subtends a right angle at the centre, Find

(he area of the corresponding minor segment. {Use x=3.14) 3

L0 (5.5, TSR 6] FU9 SR TE @ET A3 TN T | E]E (47t
oy Ffer fAfy o | (I 3l r=21.14)

10 oy ey 93 g AT O QTR 937 S BUW IE | W
et T wad B R | (r=3.14.6R)
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Section—-D

28. The arca of a rectangle gets reduced by 9 square units, if its length 15

reduccd by 3 units and breadth is increased by 3 units. If we increase the

length by 3 umits and breadth by 2 units the area is increased by 67 square

units. Find the length and breadth of the rectangle.

51 AT I TS § 2TS TN TTE TS 3 99T e 341 T, (3@ R S
9 A see Y19 a1 TH TWH 0T 3 97T T+ 493 2 9T ¢H I W (©OF
¢fe1 67 I 2T TH 9T | WTTHE M T+ oy S%r8ar |

TR 230 TS AT S 999 AW AR #Y 3 53T T I91 5, OR-ETEUDE T
9 3 23T T MU | Ale¢ U ™ 3 9T o w2 aFS P U W, TW
a1f 67 37 93F §F | wwells B am o5 Fvy F@r |

29. In an cquilatcral triangle, prove that three times the square of one side is
equal to four times the square of one of its altitudcs.

AN IR (@, 237 7530z [Ty ee <b1 AT I7q fofor o ooer Srfod 379

I0E Cout o i

oW WL @, 2D TR [Awed 2 IRT W [SFov fagebe «3fF Enfsa
A2 518 OUT Hu= |

30. The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it is 60°. Find the height of

the tower.

TIUNe STER oo U & 191 951 & 8 U 8afS (3% @) 60° e
fe=ra Bva 1@, 859 e 30° T Srote 40 ThR @ft M W | sEhe Swo

A ==

2% TTERT SR 97 FOUEA 430 Su7 T T SIUTE BRfe et
60° TH TS =2 O JST 40 B2 @ =3 vy sure E/fS o 30° =
Fez S faem =2

B15-CM (EN/AS/BN) (New) 12
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31. Prove that the lengths of tangents drawn from an external poimnt to a circle

are equal. 4

S/
TR TN QA LF QT e T Ut BAr meefe (4144 O A |

R A QU @ duy s cle coron quad Sv et efE QeET SndT

SHIA
()rr'm'w
Prove that the parallelogram circumsenbing a circle 1s a rthombus.

A S (U 951 GES == oql ANITTICH 2D 449 |

o ld @, 93T T ARt I AWETID aafd 49 519

: 3
32. Construct a tnangle simular to a given triangle ABC with its sides equal to 4
. & . - 3
of the corresponding sides of the triangle ABC (i.c. of scale factor ) 4

G5 +mw g ABC 7 spits a5 fage wiel e Imm amwe ABC

3 3
ﬁmmmgwm1wRaﬂmﬁ1?n

2a% ww3 faws ABC ¢ S 236 fage i@ 1R IRoEn ABC fagred

3
mq AR %mq | [WQ. scale factor Z) |
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Section - E

33, A 20 m deep well with diameter 7 m s dug and the earth from diggimg 1s

cvenly spread out to form a platform 22 m by 14 m. Find the height ot the
. :')‘
platl’nmm‘ Take m = =~

20 Gty @ are 7 Glre amg ab ¢d Wi org SR sote qEEnE 22

GBrg X 14 filre g ol awd see a9 Be | ot uia Sl F

9 | (n ~ 2_7;?_ v'reﬂJ

20 fiibra ity ge 7 @B anoig 2o gant Yoo iR Jornl swwite afsto 22
fir » 14 i wrer 92 w2 (Plarform) 4§ a3 wen | sy So@ fFdu ol |
- 22

[l‘t . 7 ﬁt‘d]

&

Or/ATRI/STYA

A container, opened from the top and made up of a metal sheet, 1s in the
form of a frustum of a cone of height 16 cm with radii of its lower and
upper ends as 8 cm and 20 cm respectively. Find the cost of the milk which
can completely fill the container, at the rate of T 20 per litre. (Take m = 3.14)

16 uf, GO =gemn Apgard ol 41gd e G U cuel 91T a6
werd WIF 9ad Givg arsTh o 8 . 3@ 20 e | #f fEAbraw 20 Ba

4O el iE Ararh! 4« 2fadta fenre wap ofqe [ 3@ 1 (n = 3.14 #0)

afow M =g arglon g it wma gafda Sz fal e | affa Swor
16mﬁ,mqﬁam¢8mﬁam@ﬂammzocﬁ | #fes feibra

mwzommuﬁamqvﬁmﬂdm@ﬁmmm
SunGam «as Ao @ | (n= 3. 14 AR)

B15-GM (EN/AS/BN) (New) 14



34 The marks obtained by 30 swdents of Class X of a certain school in a
Mathematics paper consisting of 100 marks are presented in table below.
Find the mean of the marks obtained by the students.

Class interval 10— 25[25 - 40] 40— 55 | 55— 70170 - 83
i[.';uﬂl IZH.!l' 'U'l. S‘Udﬂ'nls 1 :—1_1 :llII ‘ fﬂ 6

i.l;

a5 — 100

2 6
L oy = i A I d
U IR Enh L UEIT R i R e 3@ H'T g ,a:.-. = 100 99 wff_#ﬁﬁﬁ"
ATSED QTS Al T FANE AT TR | S S e w3 T
e =9 |
| o 110 -128]25 240 40— 55|55 - 70 ‘(_)_ESLSS— 00
Erosrlrr s 2| 1 1 BE ‘ 6 |

H1% THL SHE 54 OIETaTy Ot B | Wawd. w1 TEEs w1 ey S|

— - = — - — — —

i Forarsy 10—25/25—40]40 - 55 |55-7u 70 - 85| 85 — 100

ETr S 2 7 \ 6 6 6 \
N B A T
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